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Section : General Knowledge

Q.1  Which of the following type of vegetation is found in the Thar Desert?
Ans 1. Xerophyte

* 2. Tropical deciduous

x 3. Evergreen

x 4. Alpine

Q.2  Which of the following statements is/are correct?

A) The Quit India Movement was launched in August 1942.
B) Mahatma Gandhi gave the slogan 'Do or Die' at the Gowalia Tank Maidan in Bombay.

Ans  ,1.BothAandB
* 2. Neither A nor B
% 3.0nly A

x 4.0nly B

Q.3 Who among the following had the shortest tenure as the Prime Minister of India (As of April 2025)?
Ans | x 1. Chaudhary Charan Singh
x 2. 1K Gujral
3. HD Deve Gowda
« 4. Gulzari Lal Nanda
0.4 Who among the following reformers, along with his wife, played a significant role in promoting
education for women and lower castes in Maharashtra?
Ans | x 1.Sir Syed Ahmed Khan
¥ 2. Justice Mahadev Govind Ranade
« 3.Jyotirao Govindrao Phule

* 4. Swami Dayanand Saraswati

Q.5 In snow-bound areas, the population enumeration during Census 2011 was conducted in which year?
Ans  x1.2009

x 2.2011

% 3.2012

¢ 4.2010
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Q.6 Which of the following Articles of the Indian Constitution provides the advisory jurisdiction of the

Supreme Court?
Ans | x 1. Article 142
¥ 2. Article 144
* 3. Article 141
« 4. Article 143
Q.7 In June 2024, Russia signed a pact with which country, mutually agreeing to provide immediate
military assistance if either faces armed aggression?
Ans  x 1.Belarus
x 2. China
% 3. Mongolia

« 4. North Korea

Q.8 Which of the following was the capital of Bahmani Kingdom?
Ans | x 1.Hampi

x 2. Daulatabad

« 3. Gulbarga

x 4. Berar

Q.9 Which is the highest appellate court in India?
Ans  x 1. High Court

« 2. Supreme Court

» 3. District Court

x 4. Subordinate Court

Q.10 What was the literacy rate for females in the country as per the results of the 2011 census?
Ans  x1.52.66%

x 2.8214%

o 3.65.46%

x 4.74.04%

Q.11 Which Mughal emperor authored Tuzuk-i-Jahangiri, offering valuable insights into his rule?
Ans | x 1.Shah Jahan

% 2. Babur

¥ 3. Akbar

« 4. Jahangir
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Q.12 In reference to types of forest in India, Ebony and Rosewood trees are found in

Ans | 1. Tropical evergreen forests
» 2. Tropical deciduous forests
x 3. Montane forests

¥ 4. Thorn forests

Q.13 What happens if a No-Confidence Motion is passed in the Lok Sabha?
Ans | x 1. Elections are called.

% 2. The House is adjourned.

« 3. The Government must resign.

x 4. A new law is introduced.

0.14 The Gandhi Sagar Dam is constructed on which river?
Ans | x 1. Mahanadi
% 2. Yamuna
x 3. Damodar
« 4. Chambal
Q.15 Which of the following States launched the ‘NTR Bharosa’ pension scheme, aimed at providing social
security to vulnerable sections?
Ans | x 1. Karnataka
x 2. Telangana
x 3. Odisha

« 4. Andhra Pradesh

Q.16 The Indian cricketer claimed the 'Sportsman of the Year (Team Sports)' honour at the

Sportstar ACES Awards 2024.
Ans | x 1. Virat Kohli
2. Shubman Gill
« 3. Rohit Sharma
« 4. Mohammed Shami
Q.17 Which military conducted its first live-firing of the US-supplied High Mobility Artillery Rocket
System (HIMARS) on 12 May 2025?
Ans | x 1. Australian Army
« 2. Taiwanese Army
x 3. Philippine Army

* 4. South Korean Army
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Q.18 The British East India Company got Diwani Rights in Bengal after the:

Ans | x 1. Battle of Plassey
X 2. Battle of Carnatic
v 3. Battle of Buxar
x 4. Battle of Chandernagore

Q.19 The second meeting of the Joint Russian-Indian Commission on the Cooperation in the Field of
Emergency Management took placein
Ans | x 1. Yekaterinburg
2. Novosibirsk
x 3. Saint Petersburg

« 4. Moscow

Q.20 For which state was the Constitution (ST) Order Amendment Bill 2024 passed on ® February
20247

Ans 1. Andhra Pradesh
* 2. Chhattisgarh
3. Kerala

x 4. Jharkhand

Section : Logical Reasoning

0.21 If 1is added to each even digit and 2 is subtracted from each odd digit in the number 5793642,

which of the following digits will be first from the right in the new number thus formed?
Ans 1.3
x2.7
x3.5
x4.1
Q.22 MAPPLE is related to GORSCP in a certain way based on the English alphabetical order. In the same

way, BOARD is related to FUCRD. To which of the following is SAVIOUR related to, following the same
logic?

Ans | x 1. TXQLCDU
X 2. TXQLXDV
x 3. TXQLCDV
v 4. TXQLXDU
0.23 Each of the digits in the number 7123456 is arranged in ascending order from left to right. The
position(s) of how many digits will remain unchanged as compared to that in the original number?
Ans  x1.2
¢2.0
x3.3

x4.1
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Q.24 What should come in place of the question mark (?) in the given series?

035101017157
Ans  ,1.24
x2.16
x3.20
x4.22
Q.25 Refer to the given series and answer the question that follows. Counting to be done from left to
right only. (All numbers are single digit numbers only)
(Left)173218764136629528523967132(Right)

How many such odd numbers are there each of which is immediately preceded by an odd number

and also immediately followed by an even number?
Ans  x 1.0ne
« 2. Five
x 3. Four
x 4.Seven
Q.26 In the following number-pairs, the second number is obtained by applying certain mathematical

operations to the first number. Which numbers should replace X and Y so that the pattern followed

by the two numbers on the left side of :: is the same as that on the right side of ::?

(NOTE: Operations should be performed on the whole numbers, without breaking down the numbers
into their constituent digits. E.g. 13 — Operations on 13 such as adding / subtracting / multiplying
to 13 can be performed. Breaking down 13 into 1 and 3 and then performing mathematical

operations on 1 and 3 is not allowed.)

X:65:24:Y
Ans  x1.X=13,Y=140
*x2.X=11,Y =100
*x3.X=12,Y=115
e 4. X=14,Y=115

Q.27 Refer to the following number series and answer the question that follows (all numbers are single

digit numbers only). Counting to be done from left to right only.

(Left) 8621897695822168887726 3 (Right)

How many such odd digits are there each of which is immediately preceded by an even digit and also

immediately followed by an odd digit?
Ans  x1.Two
x 2.0ne
« 3. Three

x 4. None
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0.28 Based on the English alphabetical order, three of the following four letter-cluster pairs are alike in a

certain way and thus form a group. Which letter-cluster pair DOES NOT belong to that group?
(Note: The odd one out is not based on the number of consonants/vowels or their position in the

letter-cluster.)
Ans  x1.EH-JM
x2.L0-0T
v 3.CE-GlI
x4.GJ-LO
Q.29 If 1is added to each odd digit and 2 is subtracted from each even digit in the number 3417826, then

what will the sum of the digits which are third from the left and second from the right in the new

number thus formed be?
Ans 1.2
x2.6
x3.0
x4.3
Q.30 H,1,J,K, S, T and U are sitting around a circular table facing the centre of the table. Only one person
sits between S and H when counted from the left of H. I sits third to the right of J. U sits third to the

left of K. I sits to the immediate right of U. T is not an immediate neighbour of U.

How many people sit between T and H when counted from the right of T?
Ans  x1.Two
x 2.0ne
« 3. Three
x 4. Four
Q.31 Select the pair that follows the same pattern as that followed by the two pairs given below. Both
pairs follow the same pattern.

CHM : FKP
IPG : LS)

Ans | x 1.FPK:ATR
x 2. HCO : FKQ
« 3. PCH : SFK

x 4. PUX: KOS

Q.32 Each vowel in the word SUPREME is changed to the letter immediately following it in the English
alphabetical order and each consonant is changed to the letter immediately preceding it in the
English alphabetical order. Which of the following letters will appear exactly twice in the group of
letters thus formed?

Ans x1.0Q
x2.V
x3.0

«4.F
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Q.33 Refer to the given letter series and answer the question that follows. Counting to be done from left

to right only.
(Lefty MUMJYOTIKOMAKLRAJNISHALUKA (Right)

If all the consonants are dropped from the series, which letter will be third from the right?
Ans x1.U
x2.0
x 3.1
g4 A
0.34 Nis the son of V. S is the father of L. M is the brother of L. V is the father of S. How is N related to
M?
Ans  x 1.Brother
x 2. Father's father
* 3.Son's son
« 4. Father’s brother

Q.35 Select the set that follows the same pattern as the one followed by the two sets given below. Both

sets follow the same pattern.

YV - SP - M)
TQ - NK - HE

Ans &« 1L.KH-EB-YV
< 2.KI -FB -ZW
x3.KI-EC-YV

X 4. KH - FB - YV

Q.36 What should come in place of the question mark (?) in the given series?

400, 1200, 600, 1800, 900, 2700, ?
Ans  x1.1800

x 2.8100

x 3.5400

«4.1350
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Q.37 Identify the figure given in the options which when put in place of the question mark (?) will

Ans

Ans

logically complete the series.

* * * *
A A A
= =0
1.*
< | A
O =+
S
v A
= O +
3.*
x | =
O A +
4.*
x | =
A O

sets.

(NOTE: Operations should be performed on the whole numbers, without breaking down the numbers
into their constituent digits. E.g. 13 — Operations on 13 such as adding / subtracting / multiplying
to 13 can be performed. Breaking down 13 into 1 and 3 and then performing mathematical

operations on 1 and 3 is not allowed.)

(7,18,39)
(9.16,43)

* 1.(21,0,67)
% 2.(31,9,96)
% 3.(1712,57)

v 4.(19,6,63)

0.38 Select the set in which the numbers are related in the same way as are the numbers of the following

GET IT ON
Google Play
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Q.39 Based on the English alphabetical order, three of the following four letter-clusters are alike in a

certain way and thus form a group. Which letter-cluster DOES NOT belong to that group?
(Note: The odd one out is not based on the number of consonants/vowels or their position in the

letter-cluster.)
Ans  x 1. XWT
* 2.KJG
v 3. PPL
x 4. VUR
Q.40 Six boxes P, Q, R, S, T, and U are stacked one above the other but not necessarily in the same order. T
is kept third from the top. Only two boxes are kept between T and R. Q is kept immediately below U.

There is exactly one box between P and U. S is kept immediately above P. How many boxes are placed
between S and Q?

Ans  x1.Two
« 2. Three
x 3. Four
x 4.0ne

Section : General English and Comprehension

Q.41 Select the most appropriate meaning of the given idiom.

Go back to the drawing board.
Ans | x 1.To repeat a mistake
% 2. To admire someone else's work
« 3. To start over

x 4. To avoid taking responsibility

Q.42 Select the option that can be used as a one-word substitute for the given group of words.

Cleaning and grooming feathers
Ans | 1. Preening

% 2. Beckoning

* 3. Screaming

x 4. Skimming

Q.43 Select the most appropriate option to fill in the blank.

Although the committee members initially___over minor details, they eventually reached a

consensus after several hours of discussion.
Ans | x 1.sculpted
* 2. repaired
x 3. floated

4. argued
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Q.44 Select the most appropriate option to fill in the blank.

We can watch a movie play a board game.
Ans  x1.if
x 2. because

x 3. although

s 4.or

Q.45 Select the most appropriate synonym of the given word.

Rigorous
Ans  x 1. Tolerant
x 2. Lenient
x 3. Casual

y4. Rigid

Comprehension:

Read the given passage and answer the questions that follow.

Urban gardening has become an innovative and essential response to the rapid urbanisation of modern cities.
As green spaces shrink and concrete structures dominate skylines, many individuals have started transforming
balconies, rooftops and even walls into vibrant patches of greenery. These small-scale gardens allow people to
grow fresh vegetables, herbs and flowers, offering both nutritional and psychological benefits. Studies show
that urban gardening reduces stress, improves air quality and encourages environmental awareness. Moreover,
it fosters a sense of community as neighbours often collaborate on shared gardening projects or exchange
produce. Schools and offices are also embracing this movement, using gardens to teach responsibility,
sustainability and healthy living. While urban gardeners may face challenges such as limited space, water
scarcity and pollution, innovative techniques like vertical gardening and hydroponics are making cultivation
more accessible. Urban gardening, therefore, is not just a hobby—it’s a step toward creating greener, healthier

and more self-sufficient cities.
SubQuestion No : 46
0.46 Which of the following is a fact stated in the passage?
Ans | x 1.Balcony gardens are illegal in some cities.
x 2. Urban gardening reduces global warming completely.
« 3. Schools and offices are incorporating gardening projects.

x 4. Rural people have no interest in gardening.
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Comprehension:

Read the given passage and answer the questions that follow.

Urban gardening has become an innovative and essential response to the rapid urbanisation of modern cities.
As green spaces shrink and concrete structures dominate skylines, many individuals have started transforming
balconies, rooftops and even walls into vibrant patches of greenery. These small-scale gardens allow people to
grow fresh vegetables, herbs and flowers, offering both nutritional and psychological benefits. Studies show
that urban gardening reduces stress, improves air quality and encourages environmental awareness. Moreover,
it fosters a sense of community as neighbours often collaborate on shared gardening projects or exchange
produce. Schools and offices are also embracing this movement, using gardens to teach responsibility,
sustainability and healthy living. While urban gardeners may face challenges such as limited space, water
scarcity and pollution, innovative techniques like vertical gardening and hydroponics are making cultivation
more accessible. Urban gardening, therefore, is not just a hobby—it’s a step toward creating greener, healthier

and more self-sufficient cities.
SubQuestion No : 47
Q.47 What is the tone of the passage?
Ans  x 1. Sarcastic
« 2. Informative
« 3. Indifferent

¥ 4. Critical

Comprehension:

Read the given passage and answer the questions that follow.

Urban gardening has become an innovative and essential response to the rapid urbanisation of modern cities.
As green spaces shrink and concrete structures dominate skylines, many individuals have started transforming
balconies, rooftops and even walls into vibrant patches of greenery. These small-scale gardens allow people to
grow fresh vegetables, herbs and flowers, offering both nutritional and psychological benefits. Studies show
that urban gardening reduces stress, improves air quality and encourages environmental awareness. Moreover,
it fosters a sense of community as neighbours often collaborate on shared gardening projects or exchange
produce. Schools and offices are also embracing this movement, using gardens to teach responsibility,
sustainability and healthy living. While urban gardeners may face challenges such as limited space, water
scarcity and pollution, innovative techniques like vertical gardening and hydroponics are making cultivation
more accessible. Urban gardening, therefore, is not just a hobby—it’s a step toward creating greener, healthier

and more self-sufficient cities.
SubQuestion No : 48
Q.48 What is the central theme of the passage?
Ans | 1. Benefits and rise of urban gardening
# 2. Pollution caused by farming methods
x 3. Traditional agriculture techniques

x 4. Challenges in city planning
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Comprehension:

Read the given passage and answer the questions that follow.

Urban gardening has become an innovative and essential response to the rapid urbanisation of modern cities.
As green spaces shrink and concrete structures dominate skylines, many individuals have started transforming
balconies, rooftops and even walls into vibrant patches of greenery. These small-scale gardens allow people to
grow fresh vegetables, herbs and flowers, offering both nutritional and psychological benefits. Studies show
that urban gardening reduces stress, improves air quality and encourages environmental awareness. Moreover,
it fosters a sense of community as neighbours often collaborate on shared gardening projects or exchange
produce. Schools and offices are also embracing this movement, using gardens to teach responsibility,
sustainability and healthy living. While urban gardeners may face challenges such as limited space, water
scarcity and pollution, innovative techniques like vertical gardening and hydroponics are making cultivation
more accessible. Urban gardening, therefore, is not just a hobby—it’s a step toward creating greener, healthier

and more self-sufficient cities.
SubQuestion No : 49
Q.49 What is the most appropriate title for the passage?
Ans | x 1. Gardening in Rural Villages
x 2. Pollution in Urban Areas
« 3. Urban Gardening: A Greener Solution

x 4. The History of Farming

Comprehension:

Read the given passage and answer the questions that follow.

Urban gardening has become an innovative and essential response to the rapid urbanisation of modern cities.
As green spaces shrink and concrete structures dominate skylines, many individuals have started transforming
balconies, rooftops and even walls into vibrant patches of greenery. These small-scale gardens allow people to
grow fresh vegetables, herbs and flowers, offering both nutritional and psychological benefits. Studies show
that urban gardening reduces stress, improves air quality and encourages environmental awareness. Moreover,
it fosters a sense of community as neighbours often collaborate on shared gardening projects or exchange
produce. Schools and offices are also embracing this movement, using gardens to teach responsibility,
sustainability and healthy living. While urban gardeners may face challenges such as limited space, water
scarcity and pollution, innovative techniques like vertical gardening and hydroponics are making cultivation
more accessible. Urban gardening, therefore, is not just a hobby—it’s a step toward creating greener, healthier

and more self-sufficient cities.
SubQuestion No : 50
Q.50 What can be inferred from the passage?
Ans | x 1.0nly experts can practice urban gardening.
# 2. People garden only to save money.
x 3. Urban gardening solves all city problems.

« 4. Urban gardening promotes community interaction.

Section : General Hindi and Comprehension
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0.51 fgfafad dieifte o1 a& 31ef ggar
dIaR 61 Id YgIs RIS

Ans  x 1.J7d HR PTH PRl
x 2. BIA-8I¢ ardl & d@Il
v 3. T I Gfee § Fedl gl

X 4. 8IS Sdl U IRAT BAT

Q.52 ‘3R’ Bl faclid g &I -
Ans  x 1.33cll

x 2.30eF

% 3. 3R

@ 4. 9B

0.53 'dgAr &I yAfgardt o= &-
Ans | 1. e

x 2. fqurse

x 3. fafg&R

x 4. gfaar
Q.54 TU U arq # R AT & felv 3ugwh A= 1

qg ... qTH ¥ gHA 74T 81

Ans 1. 9fdfeT

x 2.ydfed

x3.9fd

x 4. 9cifeq

Q.55 g3l @I diq g HeTax &1 J 31 &2
Ans | x 1.dfG QR T

x 2. famR-feaR @

x 3. 399 &1

v 4. g f&l 915 femarg &
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Comprehension:

A STerier 1 eq1Yde Ugh? 39 IR AR f&U 70 Y4 & Faifde 3ugth IR aldl faded g fef@u|

AT ABAd BT TSP g1 MATYRN Afch Tberd! BT AU B I 3T 7 HIFBR $YAT A T ¢
AR FTT AT BT G & 3TALT ¥ TYh el P Mg 3T F off Sfeer &1 srerfayry O Ishia & s afba
& il ggg3N &, IRA 3R R BT A1 B §1 7187 B Uil fa4m=y off SAR faaR-a9n &1 3W 3R 37997 B &l
21 98 187 T TIITPHR BeTdl UTdl ¢l THTIYIRT BT fIBI Ud 39T AU fIaRY 3R A= & AR TR gl &1 &4 i
I B A, 991 & §9d Tt SO | BIARAT AT YRl H A BT aR01 BT € ? ATAIYIR S Q1 § I 3T Pl
TRUT BT &1 JUTH & 781 BT, G 39 IR Igal Iell STl &1 3Fb Ug &5 30 & foiv w19y sird &1 reeifs e
B & foIU g gl uR R 78 v =1feu, |eg 9 R e Aifgul

SubQuestion No : 56
0.56 ‘@RI A= BT 7Y -
Ans 1 A
x 2. 3TaRUT
x 3. PTT

x 4. 3o

Comprehension:

AR STerier 1 eaTYde Ug? 39 UR AR QU 70 Y4 & Halfdie 3ugeh IR arel faded g fAf@u|

ALY BT BT Tl g ATATTYURI s ABeTal Bl 379 gSuef J JuTfofd 7 A6 S4Y AT HIA &l
ITEAAYRY FI AheAdl B 379 & 39A1T § UIeh el bral A 3RT F off siear 81 sy f) Jsha & st ftba
& 1 g3l fRfaH, TR 3R @deR &1 guIfad Bl &1 ded &b Ufd faer off g faeamR-aeol &l 30 3R 397 B &l
21 98 T18F BT IIAPBY ABaId] UTdl &1 STATIYTT BT AT U 39T 379 faaRT 3R Ar=rar3il & 3MeR W &rar &1 g9 s
G I AN, 391 & S Tl ST | BIIRAT 37200l Y@=l ¥ I fbuel aRUT BR1 § ? AT 2 -1 7 I 3=dH BT
IRUT BT &1 IO & el B, Mg 3 W dgal Iall Sh1dl &l 35 Ug A8 HART & forv 91899 371 § 1 3reerits s
B & o0 81 gERl TR R el e =1fev, T A g3 Y& =ifeu

SubQuestion No : 57
Q.57 & Iy & folv oI 399 & ?
Ans | x 1. I35
X 2. & SilaA
x 3. faa=
@ 4. Ay
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Comprehension:

A STerier 1 eq1Yde Ugh? 39 IR AR f&U 70 Y4 & Faifde 3ugth IR aldl faded g fef@u|

AT ABAd BT TSP g1 MATYRN Afch Tberd! BT AU B I 3T 7 HIFBR $YAT A T ¢
AR FTT AT BT G & 3TALT ¥ TYh el P Mg 3T F off Sfeer &1 srerfayry O Ishia & s afba
& il ggg3N &, IRA 3R R BT A1 B §1 7187 B Uil fa4m=y off SAR faaR-a9n &1 3W 3R 37997 B &l
21 98 718d T IIAPBR ABeldl UTdl ¢l AT YT BT fIB1 Ud 39T U fAaRY 3R A= & AR TR el &1 &4 i
I B A, 991 & §9d Tt SO | BIARAT AT YRl H A BT aR01 BT € ? ATAIYIR S Q1 § I 3T Pl
TRUT BT &1 JUTH & 781 BT, G 39 IR Igal Iell STl &1 3Fb Ug &5 30 & foiv w19y sird &1 reeifs e
B & foIU g gl uR R 78 v =1feu, |eg 9 R e Aifgul

SubQuestion No : 58
0.58 ‘I=AW &1 AU drds A< an-
Ans | 1 [mag
x 2. dfara
x 3. 9di=
x4.98

Comprehension:

AR STerier 1 eaTYde Ug? 39 UR AR QU 70 Y4 & Halfdie 3ugeh IR arel faded g fAf@u|

ALY BT BT Tl g ATATTYURI s ABeTal Bl 379 gSuef J JuTfofd 7 A6 S4Y AT HIA &l
ITEAAYR FI ABeAdl B 379 & 39A1T § UJeh el bral A 3RT F off aiear 81 sy 0f) Jsha & st ftba
& 1 g3l fRfaH, TR 3R @deR &1 guIfad Bl &1 ded &b Ufd faer off g faeamR-aeol &l 30 3R 397 B &l
21 98 T18F BT IIAPBY ABaId] UTdl &1 STATIYTT BT AT U 39T 379 faaRT 3R Ar=rar3il & 3MeR W &rar &1 g9 s
G I AN, 391 & S Tl ST | BIIRAT 37200l Y@=l ¥ I fbuel aRUT BR1 § ? AT 2 -1 7 I 3=dH BT
IRUT BT &1 JUH & el BT, G 3 W Jgal Iall Sh1dl &l 35 Ug A8 HRT & forv 9189 371 &1 3reerits s
B & o0 81 gERl TR R el e =1fev, T A g3 Y& =ifeu

SubQuestion No : 59
Q.59 ey B WA f[PATPR H1 & ?
Ans  x 1. EEIN®
x 2. Afth 3menRd
x 3. A3

4. WU fa=rR
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Comprehension:

A STerier 1 eq1Yde Ugh? 39 IR AR f&U 70 Y4 & Faifde 3ugth IR aldl faded g fef@u|

ITATIYTT FBeTdl Bl Tl &1 ATAI YA Afeh ABeAdl BT 379~ GHUIe A 3Tl 7 AR 4 3T il 8l
AR FTT AT BT G & 3TALT ¥ TYh el P Mg 3T F off Sfeer &1 srerfayry O Ishia & s afba
& il ggg3N &, IRA 3R R BT A1 B §1 7187 B Uil fa4m=y off SAR faaR-a9n &1 3W 3R 37997 B &l
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Ans | x 1. fa®r
2. 3T
x 3. °3™
x 4. Iftbed

Section : Basic Knowledge of Computer

Q.61 Which protocol is used to retrieve emails from a server?
Ans  x 1.HTTP
x 2.DNS
¢ 3. IMAP
x 4. FTP
Q.62 If you want to apply a new design template to all slides in an existing presentation in MS
PowerPoint, which of the following steps should you take?
Ans | 1. Go to 'Design'-> Select a new template -> Click on 'Apply to All'
x 2. Go to 'Insert' -> Select 'New Slide' -> Apply a different template
% 3. Go to 'File' -> Select 'Save As' -> Select a different template file

x 4. Right-click on any slide -> Select 'Change Layout'

0.63 What is the full form of WWW?

Ans | x 1. world Wide Wan
« 2. World Wide Web
X 3. World Width Web

< 4. Word Wide Web
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0.64 Which of the following file formats is NOT used for Clip Art images inserted into an MS PowerPoint
presentation?

Ans | x 1 jpg
x 2..png
* 3. .gif
s 4. git
Q.65 Which malware is made to infect templates and documents, frequently spread via email
attachments?
Ans 1. Macro Virus
x 2. File Infector Virus
% 3. Polymorphic Virus

# 4. Boot Sector Virus

Q.66 What happens when a user types a number in a cell and presses Enter in MS Excel?
Ans | 1. The number is aligned to the right by default.

% 2. The cell becomes bold automatically.

3. The number is saved as text.

% 4. The number is aligned to the left by default.

Q.67 The primary purpose of cybersecurity in organisationsisto
Ans | x 1. reduce software costs

x 2. comply with industry standards

% 3. increase network speed

« 4. protect against cyber threats

0.68 How can a user change cell size in MS Excel without affecting other cells?
Ans | x 1.By unwrapping the text
« 2. By merging the cells
x 3. By entering the text
» 4. By adding formulae
0.69 How do we locate a file and folder?
Ans | x 1. By selecting Network and Internet
X 2. By selecting Accounts
x 3. By selecting Settings

4. By selecting File Explorer
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Q.70 What is the primary function of POP3 in the context of email service?

Ans | 1. Toretrieve and download email messages from the server
% 2. To send email messages
x 3. To encrypt email communication

% 4. To store email messages on the server

Q.71 Which of the following is a mobile operating system designed specifically for Apple’s mobile devices?
Ans | x 1. Linux
2. Android
¢ 3.i0S
x 4. Windows Phone
Q.72 Which of the following desktop elements in MS Windows OS displays icons representing shortcuts
to frequently accessed files, folders, and programs?
Ans | x 1. Taskbar
x 2. Start menu
« 3. Desktop

x 4. Notification area

Q.73 Which option in MS Word allows the user to print specific pages of a document?
Ans | x 1. Print All Pages

» 2. Print Odd Pages

x 3. Print Even Pages

« 4. Print Custom Range

Q.74 Which tab in the Ribbon is used for Page Setup options in Microsoft Word 20107
Ans | 1. Layout (or Page Layout)

x 2. Home

x 3. References

x 4. Insert

Q.75 What is the time complexity of the Quicksort algorithm?
Ans  x1.0(n"2)

»2.0(n log (n))

% 3.0(n)

x 4.0(logn)

Q.76 In the context of paragraph formatting in MS Word, what does the term 'hanging indent' denote?
Ans | 1. All lines except the first are indented.

% 2. The paragraph is bolded and italicised.

* 3. Only the first line is indented.

x 4. Text is centred across the page.
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Q.77 What is the main function of Antivirus Software?

Ans | x 1.To compress files
« 2. To detect and remove malware
x 3. To create documents

x 4. To increase processing speed

0.78 Intrusion Detection System (IDS) tool is a part of

Ans  x 1. Computer Security
X 2. Application Security
« 3. Network Security

X 4. Hardware Security

Q.79 Which feature in an email client allows users to filter and organize incoming emails automatically?
Ans | x 1. Spell Check

x 2.Signatures

% 3. Themes

« 4. Rules/Filters

Q.80 Which of the following is the correct syntax of the address function in MS Excel?
Ans | x 1. ADDRESS(row_num, column_num, [a1], [sheet text])
% 2. ADDRESS(row_num, column_num, [abs_num], [sheet num])
« 3. ADDRESS(row_num, column_num, [abs_num], [a1], [sheet text])
4. ADDRESS(column_num, row_num [abs_num], [aT], [sheet_text])
Q.81 Mugdha told her grandfather that 6 years earlier from their present ages, he was 5 times as old as

she was. After 12 years from now, he will be thrice as old as she will be. Find the sum of their

present ages (in years).
Ans  x1.119
x2.116
v 3.120

x4.117

Q.82 In an election between two candidates, 80% of the registered voters cast their vote and 10% of the
votes polled were found invalid. The winning candidate got 55% of the valid votes and won the

election by a margin of 1494 votes. How many voters were registered?
Ans  x1.20749
x 2.20751
¢ 3.20750

x 4.20753
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Q.83 A number is first increased by 15% and then reduced by y%; the net increase in the original number
is 3.5%. Find the value of y.

Ans  »1.10
x2.15
x3.20
x4.25
0.84 Bhanu covers 724 km in a boat in 24 hours against the stream and he takes 15 hours with the
stream. Find the speed of the stream.
Ans | 1.9.05km/hr
% 2.16.73 km/hr
% 3.15.09 km/hr

x 4.18.54 km/hr

0.85  Simplify V48+ V192 + V507 — 363

Ans <1 17‘}%
X2 1143
X3 1343

v 4 1443

789 —395)2 — (789 +395)2
Q.86  Simplify: ( i )
375 X 789

Ans  x 1.1
x2.4
¢34
x4.-1
Q.87 In a clearance sale, a metal showpiece whose marked price was ¥10,490, is now sold for ¥8,392.
What is the discount percentage on the metal showpiece?
Ans  x1.10%
x2.18%
¢ 3.20%
x 4.15%
Q.88 In a cricket team, the average age of 11 players is 28 years. If the captain, who is 34 years old, is

replaced by a new player, the average age increases to 29 years. What is the age (in years) of the

new player?
Ans  x1.43

x2.44

x 3.42

o445
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Q.89 A shopkeeper lists the price of a fan at 36% above its cost price and offers a 25% discount on its list
price. If he earns a profit of ¥200, then what is the list price (in ¥) of the fan?

Ans x 1.13,715
* 2.13,681
« 3.13,600

x 4.13,404

Q.90 Lewis, Michael, and Charles can finish a certain piece of work in 40, 6, and 24 days, respectively. All
three of them started the work together. Lewis left the work after 5 days and Michael left just 2

days before the work was completed. Find the total number of days taken for the work to be

completed.
Ans  x1.96
x2.18
x3.38
v4.58
Q.91 A retailer buys an electronic item for ¥180. His overhead expenses are ¥20. He sells the electronic
item for ¥340 and makes x% profit. The value of x is:
Ans  x1.90
x 2.60
¢3.70

x4.50

0 A dealer buys two articles X and Y for 1,100 each. He marks each of them at the same price. He sells X by giving two successive discounts of]
60% and 70% and still earns 187 as profit. If he sells Y at a single discount of 86%, then what is the profit percentage on Y?

A X1 36%

X 2. 355%
x 3. 350
v % 36.5%
Q.93 The average of 6.5, 10.8, 19.7 and a is 12. The value of a is:
Ans  x1.13
x 2.10
x3.12

4.1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Q.94 The speed of a car for the first one hour of its journey is 45 km/hr and the speed for the next half-

an-hour is 30 km/hr. Find the average speed of the car for the whole journey.
Ans  x1.35km/hr
& 2. 40 km/hr
x 3.45 km/hr

* 4.30 km/hr

Q.95 Which of the following fractions is the largest?
6 9 13 23

9’ 24’ 62" 74

Ans = 1.6
9

9
24
23
74
13
62
Q.96 The difference between the present ages of Ashok and Hina is 40 years. If the ratio of their ages
after 10 years will be 1: 3, the present age of Ashok is:

Ans | »1.10 years
x 2.25years
x 3. 15 years

x 4.28 years

Q.97 A can finish a work in 25 days. He worked on it for 8 days and let B continue it. B worked on it for 4
days and left it for C. By then 82% of the work was finished. C finished the remaining part in 4.5
days. Had they worked together, the number of days B and C would have taken to finish the work
would be:

Ans J1-6i

33
1
X292
7,5

X310

x40

2x—1 .

Q.98 1f2rx — 25~! = 16, then the value of i
2x+3

51

Ans ;('1.2
9
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0.99 The ratio of the income of two workers A and B is 6 : 7. The ratio of their expenditure is 2 : 3. If each
of them saves ¥800, what is the sum (in ¥) of 10% of A’s income and 20% of B’s income?

Ans  x1.385
¢ 2.400
x 3.430
x 4.350
Q.100 A number N, if reduced by 20%, becomes 240. By what percentage should N be increased so that it
becomes 3127
Ans  x1.5%
x2.45%
v3.4%

x 4.6%
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